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Solution

(i) f  is a rational function of the form 
( )

( )

g x

h x
, where g (x) = x and h (x) = x2 + 3x + 2.

Now h (x) ≠ 0 ⇒ x2 + 3x + 2 ≠ 0 ⇒ (x + 1) (x + 2) ≠ 0 and hence domain of the

given function is R – {– 1, – 2}.

(ii) f (x) = [x] + x,i.e.,  f (x) = h (x) + g (x)

where  h (x) = [x] and g (x) = x

The domain of h = R

and the domain of g = R. Therefore

Domain of f  = R

Example 8 Find the range of the following functions given by

(i)
4

4

x

x

−

−
(ii) 2

16 – x

Solution

(i) f (x) = 
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Thus the range of 
4

4

x

x

−

−
= {1, –1}.

(ii) The domain of f, where  f (x)  = 216 x− is given by [– 4, 4].

For the range, let y = 216 x−

then y2 = 16 – x2

or x2 = 16 – y2

Since x ∈ [– 4, 4]

Thus range of f = [0, 4]

Example 9 Redefine the function which is given by

f (x) = 1 1x x− + + ,   – 2 ≤ x ≤ 2
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